Ho me wor K 7.

/f} S NewtowS it au

2.

/1/3. = Newdous Sewad 1y

F = bhst = M,a;lwlal
S

S
A L

A
B A
q, Mo D
brg9er a = Smgller M
Mo o 8B D
—_— q— A + - +
(O m
g ‘/.S‘ E;_ y F=ma
(0 | kg M
-~ F = AR —95‘:: :ZIDA/:-ZOKN






Gravity Fore (Weight)

lw:m'"ﬁ(

2 JW.

—

/
gmv{%d{ml me(l.

[F= -3

“iner tial Mqrg_/

Thyow ofjects fall dam g tovir
ﬁp@k/ awi(, box WKl acil¢:

o, w=pqg
- W Mpy § = M a
E=3/s [Fom=r]

E((u ('l/qlehce prik;a‘y/é




what iy £l

velation letweey
l:? MMJ— ‘T:(7

1

—

depends oy whether the Glock
IS lolius Ok ko <

—

Ea (oh 2he lok) = F,

( ] New dn'S 3rd %

For any ac(tiom thave [
5=

av cqual awd ppesite
Y ¢q CtIOA.







